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1.

1.3 Relating SI and Imperial Units

A Canadian football field is 2
. . . m e o
approximately 59 m wide. foc CE s A

What is this measurement to
the nearest foot?
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2. After meeting in Osoyoos, B. C.,
Tk ek > B
[akoda drove 114 km north G g K

and Winona 1.11‘::1.1

south. Who drove tarther?

Nar :‘L‘ffﬂﬁq L(:-"'J'ﬁ.

GR i x 1. @OTkm 1049 km

=S




ooy T OO &
{“Dﬂ“qwjr vy ae D% E

3. Nora knows that she is
5 . 7 in. tall.

a) What height in centimetre: 1 )
] . ns S M 3o D hﬂlﬂh+
will she List on her drivers

license application? -, o ¥ % % + v r_,r‘_‘-\_,-'—’H\
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A truck driver knows that his CL-> oM -2 P
load is 15 ft. wide. Regulations -
ilong his route stat t]nl 1Y o B ":'i- -2 I"f:" Cl 2
AL T A00S Ty » slae dal & J

g es . - _ i
load over 4.3 m wide must
have wide-load markers and an

escort with ﬂ;l:-.hing ]ighth-
Does this vehicle need wide-
load markers? Justify your

ANSWer.
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